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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, efc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Answer all questions. Each question carries one mark. (40x1=40)
QR B, YR, YUSOR. T, 303R0TD T3 1t 1000 &08.

1. As per RBI benchmark allocation of bank credit women beneficiaries should

receive at least % of bank credit.
a) 5 b) 10 c) 15 d) 1
208030 DRE'F 139, 087 LI, 08> AL ST SRITOBT &, o0 &0
FOIVLIND % 3,080 ROOTIY TBoDUWER.
a) 5 b) 10 c) 15 d) 1

2. What does the letter ‘S’ denote in the term IFSC ?
a) Subscriber b) State c) System d) Source
0.7 . 7. A. 0D, ‘D’ DII T,307033 ?
a) ﬁw‘m;guo‘ b) Xeest c) AR d) Zeex'e

3. Replacement capacity in case of term loan proposals is judged by the banks
with which of the following ratios ?
a) Debt-equity ratio b) Internal rate of return
c¢) Net present value d) Debt service coverage ratio
LD WO T)BNG HDTTE mﬁoqﬁ;ﬁaﬁ:& mﬁoﬁme:o s FFNT 0D

5R0TIRPOT VeF CWRITE ?

a) T BBEs eS0TI b) 0308 @oIT BT

c) IRY TR FPY d) oo ez w9,& BT
4. is needed for developing a product in initial stages.

a) Seed capital b) Start up capital

c) Second round financing d) None of these

50018 BOSTE), VBHT BRT O N, TONTOHTO

a) SO WoBIY b) 3,003 Lo

C) ACBEIe RS BEITIRO d) aRNEE) CIR[TR B,
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5. If the bank rate is increased and all other things being equal it will result in
a) A decline in the cost of credit
b) An increase in the cost of credit
¢) No change in the cost of credit _
d) Cost of credit has no relationship with demand for borrowing

BRI 139,080 TWIIY, TWp 920 WENdeR, RROTNTT B0 HOrFIID
a) Tod BBEE w08

b) o ﬁzgp@ﬁzgg

C) oy BB V[0 WEHIH AL,

d) ToT SegEs e weasnn FowoFRe

6. Expand LAF.

a) Liquidity Adjustment Facility b) Liquidity Account Facility

¢) Liquidity Allotment Facility d) Long Adjustment Facility

LAF 8 %38 gns

a) d3@es VTR 00t Fades b) O3pes etRoe Haded

C) D3RI LT FaDes d) oo @Rt o0 Hades
7. Which of the following bank is not wholly owned by the Government of India ?

a) RBI b) SBI

¢) Punjab Bank d) None of these

FPNS O 239, 08O ROTREF 0N LT TFoF T 0303, 0REQL 2

a) RBI b) SBI

C) Boesey* 3, 0F° d) aJnv, cdnyze ese)

8. Nationalisation of Imperial Bank of India and its conversion into SBI was done
in which year ?

a) 1935 b) 1920 c) 1965 d) 1955
020030 239,05° 53¢ R0BIRT eplSlel DR [T SBI 0% BT ST
a) 1935 b) 1920 c) 1965 d) 1955

SPACE FOR ROUGH WORK
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9.

10.

11.

12.

Who decides how much quantity of the coins to be minted ?

a) Government of India b) RBI

c) SEBI d) Prime Minister
O3RT) FLR, T, LIOFRIT TBOWREOFI), VGFT BRBZTT ?

a) 003 XFF T b) RBI

c) SEBI d) =,5e5=008,

All Commercial Banks need to maintain cash, gold and bonds to provide
credit to its customers with themselves is called

a) SLR b) CRR c) Bank rate d) Repo

D, TOESE, 1, BN T 1o, ZFOR O VB BROOTLIETT IR, e, T
8,30, @Qi:%ﬂ@@%@dag Q07 3B00RMIT.

a) SLR b) CRR C) 23,08 o] d) oZpe

In financial planning, higher most option price will lead to

a) Longer option period b) Smaller option period

c) Lesser price d) Higher price

BeaBoAT C3RerIoE), 98 NOFY esodaa 2363 SRRFTIFS VBT

a) DeTFr R e:soc’oﬁ 300D b) wewawm‘:) 5033 e300

c) 38R ¥ d) 2,2

What happens if a crossed cheque is presented for payment ?
a) It can be paid only through a banker

b) It cannot be paid at all

c) It can be paid in another bank

d) Anyone can draw the money

2,000 Sedf T, BT TR LITRITT DTN ?
a) 3, 080° WRT, TORSRED T,

b) TRSBLMORTE AL,

c) ¥3ed 239,05° S, TORSRWBOW

d) o3nch st B BB

SPACE FOR ROUGH WORK
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13. In NEFT ‘E’ stands for

a) Electric b) Electronic c) Elevation d) Eligible

NEFT 39 ‘E’ R, ARWRTT.

a) o3z b) admps C) dOBeT® d) o2
14. CRD is

a) Expenditure b) Cash c) Capital d) Accounting

CRD o0

a) & b) SncH C) 200BY d) &rwes
15. ___ isIndia’s first original Bank.

a) PNB b) RBI c) SBI d) UCO

239,080 LRTIT JeBe S 239, 0%0.

a) PNB b) RBI c) SBI d) UCO
16. Offshore VCs are promoted by and financial institutions.

a) Foreign banks b) Private banks

c) State banks d) None of these

BB VC nsh Beazozd ROF R 080 C00T wugeiTOesss.

a) ATed 239, 0BONHD b) &5oxn 239, 0BOMEL

C) o, 239, 0BOTEH d) aRnT cdnze Q)
17. Venture capital firms are usually organised as

a) Closed-end mutual funds b) Limited partnerships

c) Corporations d) Non profit business

TOTR WOBTY :a’o:\;mb AT, N a“:asa%ﬁfao@da@dodd

a) SOYB-BRT TOIT PN b) Q08 ToenTdd

C) FopesBe3* d) SPRQT [ &HT

SPACE FOR ROUGH WORK
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18. Who is authorized to issue coins in India ?

19.

20.

21.

b) Ministry of Finance

a) RBI

c) SBI d) None of these
P03TE, 5E, BN Toe, YR, WANE SREITFT 03300 ?

a) PT8eod DRTF 230,080 b) &@eaBaRd w203,
C) TS0N Bt 3,05 d) [RRYES) CIRITR ©Q,

With the recent merger of banks in August 2019 how many public sector
banks will be there in India ?

a) 12 b) 19 c) 20 d) 14
28283 &57ixt, 2019 B w3, 080N¢ DOWT 5033, ;OUBRY, ST WOTF BB N Olevela)
wggo&ﬁ@mgﬁ ?

a) 12 b) 19 c) 20 d) 14

Which of the following is not an organised sector in India ?

a) Nationalised Banks b) Regional Rural Banks
c) Co-operative Banks d) Chits and money lenders

FINTINGE), CARRT LPTBEY, TR BODTY, ?
b) ,z3¢88 o, a0eed L), 0BT

a) DoXsE 3 23, 080T
d) 28N 3B SeamarsednoTI

C) R@T0 méoﬁori@a
What kind of an asset is goodwill as per the Indian accounting standards ?

b) Intangible asset

a) Fictitious asset
d) Fixed asset

c) Current asset
Q0RO BTOLIONT TORE'F T30 CIRT B eSFTPO,T HFTING ?

a) 393 B b) &3 AR
c) w30} d) 43 &4

SPACE FOR ROUGH WORK
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22. One rupee note bears the signatures of

a) RBI Governor b) Prime Minister

¢) Finance Minister d) Secretary, Ministry of Finance
2,083 TR0 FRetT B HOBITITO a3 9

a) RBI n=IFoe b) =[,oT=008,

C) ea5omd o0, d) ODFTEF, TeogoRd RedeowoD

23. At what frequency can banks pay interest on savings bank account as per
RBI guidelines ?

a) Monthly b) Quarterly c) Half yearly d) Yearly

RBI 8 28F 33 Boedr odns VIR, 239, 0B0MEL VYT STINRY Hoeed W&

QeI 2

a) 3ored b) 3, =mr3 c) epFoars  d) Soars
24. Right to set off customers account can be exercised only by a

a) Creditors b) Debtors c) Banker d) Customer

Vo, BBETONG W3NS 2wPFO3D 33,33 BB, VEROTZD

a) JOTIT b) modndd C) 233,080° d) m,TID
25. The services rendered by a banker as an agent of his customers are called

a) Principal services b) Agency services

c) General utility services d) Social services

2.2 DO3RENOITN 239, 08T° ToTFHITOM Ve ReBRIS), DI FEORLORIIT 2

a) ;"majﬁ 2e3nsh b) xoru; eI

C) TR, T,0dRexs BeaSTsd d) ZRPe3T JeSrishd
26. Who is the first Governor of RBI ?

a) K. A. Narasimhan b) V. K. Malhotra

c) A. K. Vadia d) A. B. A. Smith

RBI 3 3200 nSJFT° a3 ?

a) 3. 9. ITOBJS b) &. 3. LR T,

C) R. 8. ToRCD d) . 2. . A

SPACE FOR ROUGH WORK
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27. A cheque is dated 27/01/2022, the due date is

a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022
WOTD Zﬂﬁﬁ IO OFV08 27/01/2022 5338 ArOT DT0Y
a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022

28. Investment of banks in government securities and other approved securities
is categorized at

a) Lending b) SLR investment
c) Non-SLR investment d) None of the above
XEorD B5, 3t RO 9T BRORRQRTDT T, 3nYA, mjommb BRRE
BRBRTI, beﬁa‘g{dd:
a) o Jead b) SLR Bpa@é
c) SLR 3»0%0 el d) B0 CINPTR VY,
29. Loans to software industry upto a limit of Rs. are classified as priority
sector advances.
a) 50 Lakhs b) 100 Lakhs c) 1000 Lakhs d) 500 Lakhs
309,03 %maaa O TR. Q03033 LT, F003) TOVWIOTH a%ﬁreﬁoﬁcﬁd.
a) 50 oiﬁ% b) 100 ©¥nL c) 1000 &3nso d) 500 &30
30. A customer is required to maintain adequate balance in his/her accounts in
order to use his card in the merchant establishments.
a) Smart card b) Credit card
c¢) Add-on credit card d) Debit card
22 T, TFRD FOREF Y, 39,00 ROFNTY, WIRLD BB, SO I,
35930306), BRODTLIER.
a) MWFF RE'F b) 3 &* BEF
C) €E-u 3,88 BE'F d) B’ EF

SPACE FOR ROUGH WORK
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32.

33.
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31.

Which of the following is not a function of commercial bank ?
a) Providing project finance
b) Selling mutual funds

c) Deciding policy rates like CRR and SLR

d) Settlement of payments on behalf of customers
9N odRPYH S, 1, 03T TODFIE ?

a) A3ReHSK 3o BRI

b) ZTIT QY BnooLs

¢) CRR &2 SLR ni¢o2 ax» 33 QTFORONT

d) m,®3T TSzon DITENTRY TTERDE

The ability of Commercial Banks to increase their deposits by expanding their
loans and advances is known as

a) Capital expansion
b) Credit expansion
c) Credit control

d) Credit creation
IO, 139, 0BONE BRAE MG F W) , TO TR F0ONB DT JRA TBROPTR),
DI 2

a) WoBY JFTE

b) o HITR

C) To® AP0,

d) To® ARRFED

Where was the first bank in the country started at ?

a) Jaipur b) Mumbai c) Kolkata d) Pune
TRTBTQ, 2Q SRTL 13, 0 WTFR0BD ?

a) z%.—éc‘ b) =xoced c) ﬁ':;ee:@?: d) I

-.J e =

SPACE FOR ROUGH WORK
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34. The three presidency banks were merged in 1921 with the astablishment of

a) RBI b) SBl

B0 d) Imperial Bank of India

1921 8 R AT 3, 080m%h DOeIRH0T RTHIRT L, 08>

a) RBI b) SBI

o) Uco d) ©0e003T* 23,08 ¢4 Q0RO

35. Which bank had taken over the Imperial Bank of India ?

a) Indian Bank b) SBI
c) RBI d) UCO
o3nss 239,080 30,0030 R, 0% ST° QOROINT TORIFFOIPNT ?
a) QORCDI* 23, 08° b) SBI
c) RBI d) UCO

36. Which of the following is not a public sector bank in India ?
a) Andhra Bank b) Federal Bank
c) IDBI Bank d) Vijaya Bank
QRN R PoUITY, WoBF T TOODT 239,080 ©Q,?
a) 03, 1, 0F° b) FBETS* I, 0F
c) IDBI 3, 05° d) <o 23e,0F°

37. With which bank Syndicate Bank merged according to the recent August
2019 merger ?

a) Cooperation Bank b) Canara Bank

c) Vijaya Bank d) Andhra Bank

QS T BNX', 201938 DOT 500 A0WFEE 239,080 353 mﬁoamaa
DOeIRPOBT ?

a) BTPFETeBT I, 0B b) 30 233,08

C) Q03 13,08 d) 03, 13,08

SPACE FOR ROUGH WORK
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Loans of very small amount given to low income groups is called
a) Cash credit b) Micro credit

c) Simple overdraft d) No frills loan
FRXD B0 InFRen FREOS ¥ © T[RET TOOTHD

a) IN o b) dgﬁ@e oo

C) XO% LT0'wR, d) See @ v
Who will settle the grievances of customers of Banks ?

a) RBI b) SBI

c) Local courts d) Ombudsman

239, 03 1o, TFT Bo0TD ﬁ;adéﬂféadgl BB BREOTHO odRTO ?

a) RBI b) SBI

C) FPeodd 3, RO DN d) oW mOT*

What will be the impact on the cash reserves of commercial banks if RBI
conducts a sale of securities ?

a) Increase

b) Decrease

c) Remain constant

d) Increase or decrease

P08e0N DIN'F 239,080 $3,3ns maoaesaiaigl BNRTB a'aréz:g 23, 08N SRR
QOEFOT 30eeS O TOTBIRTINIZT ?

a) DoF

b) @93

C) AT=NTIS
d) 00T T Qe

SPACE FOR ROUGH WORK
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answer all questions. Each question carries two marks : (15x2=30)
SR, BNV YUZ0%. T 3odnond T3 1t SR 508D !
41. Banks does not provide loans for
a) Crop loans b) Education loans
¢) Home loans d) Gambling
232, 0BT ATE Tow Fmz0e
a) 3% o b) 380 T
h
C) ﬁdﬁ Ao d) RO
42. Bank does not give loan against
a) Gold ornaments b) LIC Policy
c) Lottery ticket d) NSC
23, 0BOMEL ATT BHTT e WONTR) VeRBOY,
a) VYT SPTLNTO b) LIC od
C) ©E3D e3Be3* d) NSC
43. 100 Rupee note is signed by
a) Prime Minister b) Finance Minister
c) RBI Governor d) Chief Minister
100 TRTO FReL e 03RT e [TIE ?
a) T,FosR005, b) BeosaRd 3008,
¢) RBI R=3C* d) SRAF
44, Bank provides ______loan.
a) Home b) Car c) Education d) All of the above
mﬁoﬁg o0 afﬁ)gd

SPACE FOR ROUGH WORK
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45. Which type of deposits earns higher interest rate ?

a) Current account b) Savings account
c) Fixed deposits d) None of the above
3N BeSednsd el 38 wa TORYI), NEROII 9
a) WP a3 b) ev¥zocdh a503
c) NQF&& Bewed d) R0edT BRT)T e
46. Maximum tenure of fixed deposit is
a) 5 Years b) 7 Years c) 8 Years d) 10 Years
TR Bewmedodd ﬁa% (Enta) WD) ?
a) 5 IR b) 7 waﬁfrﬂ’o C) 8 [T gL d) 10 SI=FNO
47. Which is Government Bank ?
a) RBI b) SBI c) HDFC d) ICICI
XNFF T 239,080 Q3R 2
a) RBI b) SBI c) HDFC d) ICICI
48. Which is the largest commercial bank in India ?
a) Bank of India b) Axis bank
c) SBI d) HDFC
YRTETE) 58 cirat:-f mtém 239,030 ORI 9
a) e39,08° e ao@ccba b) LA 239, 0%°
c) SBI d) HDFC
49. When did the NABARD establish ?
a) July 1982 b) July 1969 C) June 1951 d) June 1961
NABARD x "aa:fﬁamwd%
a) =g 1982 b) =g 1969 C) =R 1951 d) =ez* 1961
50. State Bank of India is a
a) Public Sector Bank b) Private Sector Bank

c) Joint Sector Bank
New‘ 39, 0F° ST YoBRAIM 2.0%H
a) wamas N [Slowsln 239,080 b) = Iwods 23,080

C) =0 IO 239,080 d) o:)&ae'ﬁ' 5,30 DN oﬁo
SPACE FOR ROUGH WORK
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5.

52.

53.

54.

55.

RTGs is managed by
a) SBI

c) State Government
RTG ¥R 38F 38 Snmmd
a) SBI

C) To% XTFT

SEBI is

a) Regulatory Authority
c) Both a) and b)

%% (SEBI) womd

a) QOR0Z, 9 T, HFTT
C) a) &) b) 20BR
Bank pays interest on

a) Deposits
c) Both a) and b)

239, 08N ATT 206 WBNIR), RRRIT.

a) BeEINT
c) a) &) b) 0B

Expand PAN.
a) Primary Account Number
c¢) Both a) and b)

PAN &3 8 dnwd

a) &30 BFRoLs Jows*

c) a) o3 b) HTHER

Bank passbook issued by

a) Banks

c¢) Both a) and b)

23,08 % TITBR, ZRRORR
a) m‘a?joﬁ:mb

¢) a) SO b) 2TER

-15-
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b) RBI
d) Central Government

b) RBI
d) #eoT, XFFT

b) Statutory Authority
d) None of these

b) ZoRWT, 9,080
d) QRN cIRITe BQ,

b) Loans
d) None of the above

b) moonsd
d) SO IRJTH VY,

b) Permanent Account Number
d) None of the above

b) HZFBoex® 57203 [oLT?
d) 0T IRFTe B

b) Indegenous banker
d) None of the above

b) Tedeodd 23,080
d) R0edT IR &)
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